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h

pythagorean theorem

h2+h2=22

h=

equilateral triangle 

8

means bottom sides are =4 each

42+c2=82

c=√(48)

√2
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11pi/2 *180/pi=990

990-720=270

270*pi/180=3pi/2

convert to degrees...use what you know

then convert back to radians
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radians
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all student take calculus

ASTC

QI:  ALL trig functions +

QII: Sine is +(csc +)

QIII:Tangent is +(cot +)

QIV: Cosine is + (sec +)

AllSin

Tan cos
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Prop 3:Ladder
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Quotient: x+4    remainder: -4
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-9,-3,4

positive  because disco right

because disco = odd 
degree, 7 faces means 
no 5,3,1
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touches means zero repeated twice!

y=a(x+4)(x+4)
(x+6)(x+1)  to find a: plug in point (-2,2)  

VA:-6,-1

zeros:-4,-4

2=a(2)(2)
4*-1 a=-2 ORRRRRR

a=-2 because..

HA:y=-2

a=-2
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P=Qert r=-5.7%=-5.7/100=-.057

Q=100

P=50

r=-.057

T=guess

alpha enter

Math 0:solver

0=P-Qe^(rT)

T=12.16..days



146 day 16 October 20, 2014

by hand....
divide by 3

ln(x+2)=4

get rid of the ln

property 1:

e^(4)=x+2

x=e^4-2 =52.59..

by solver

math 0: solver

0=3ln(x+2)-12

x=guess(5)

x=52.59...

by intersection

xmax:60

y1=3ln(x+2)

y2=12

calc 5: intersect

x=52.59...



146 day 16 October 20, 2014

in calculator:

y1=log(x+1)/log(2)+3

by prop 4 the change of base

zoom 6:zoomstd

domain:  (-1, ∞)

Range: all real
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